At
Worksheet - Vectors in 3D
‘ 1) Given 4 = (2,8,-5) and B = (2,0,—3) determine:
@ a) |AB| Kt; _ (o -3 -2) b. midpoint of AB
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0 2) Given A = (4,1,2) and B = (~4,~1,~2) determine: sy =5
a) [4B| b. midpoint of 4B
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3) Simplify each expression.

) a) (8,7,4)-(2,0,9)+(1,-2,1) b. (1,4,2)+(3,1,2) c. [(6,2,3)
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4) Arevector u = (3,-7,1) and vector v= (6,3,3) perpendicular?
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5) Determine the value of kif (2,k,—3) and (4,2,6)are perpendicular.
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&) 6) Given u = (8,6,0) and v = (2,-1,2), determine the angle between the vectors.
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7) Given u = (2,2,1) and v = (3,6,-2), determine the angle between the vectors. i S
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8) Line L has vector equation (x,»,2) = (-2,0,1) + t4,-1,1).
a) List the three parametric equations of L,
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b) Name two pointson L .
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¢) Which of the points (-10,2,-1), (18,~2,6), and (14,-5,4)areon L?
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d) Write a vector equation of the line containing (1,2,3) that is parallel to Z .

(xy.2y) = L2y « (v = I

9) Write vector and parametric equations for the line containing 4(2,3,1) and B(4,-1,3)
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10) Where does the line (x,y,z) = (6,—5,4) + £(3,~ 2,4) intersect # = el
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